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0, 125, 250, 375, 500, 625, 750, 875, 1000 % = = = =
Three, 5 and 9 colour steps for visual evaluation BIBECKOmOw SIBHCK MaGw wWitetewy - TUBLOG,U =50 109l /5Yy) +50, Yy =4, Yy =20, Y\ =100
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0 50 100 0 25 50 75 100 0 12 25 37 50 62 75 87 10

ge020-1n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000
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0, 125, 250, 375, 500, 625, 750, 875, 1000 x = = = -
Three, 5 and 9 colour steps, numeric calculation example  Bl&Rir¢k00@0w Bl&Rlkdkien6w whitaity W = ey =L b=t ==Y

0,00 | 0,50 | 1,00 0,00 1,00 0,00
0,00 | 0,50 | 1,00 000 | 0,50 | 1,00 0,50 | 1.00 0,50
0,00 | 0,50 | 1,00 0,00 | 0,25 | 050 | 075 | 1,00 0,00 025 | 037 | 050 087

NOOw  NO8w  Ni16w NOOw  NO4w N12w  N16w NOOw  NO2w NO6w N14w

0,00 |/ 0,50 | 1,00 0,00 [ ] 0,50 ,00 0,00 00
0,00 § 0,50 & 1,00 0,00 ] 0,50 [ 1,00 0,50 ] 1,00 0,50
0,00 | 0,50 [ 1,00 0,00 [ 0,25 '] 050 | 0.75 [ 1.00 0,00 [ 0,12 25 I 037 [ 0'50 087

0 50 100 0 25 50 75 ) 0 12 25 37 50 75 8

geo20-3n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=1,000, expa=1,000
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0, 15, 62, 140, 250, 390, 562, 765, 1000 * = = = =

Three, 5 and 9 colour steps for visual evaluation BBk OMmOw BlBHcK NE6w Wiitstewy = TUBLOG,U =50 10g(Y /5Yy) +50,¥n=4, Yy =20, Yy =100

NOOw  NO8w  N16w NOOw  NO4w N12w  N16w NOOw  NO2w N14w  N16w
75 87

0 50 100 0 25 50 75 100 0 12 25 37 50 62

ge020-5n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=2,000, expa=2,000
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0, 15, 62, 140, 250, 390, 562, 765, 1000 * = = = =
Three, 5 and 9 colour steps, numeric calculation example Bl&lk¢k00A0w Bld&ik KIS h6w \AW/ Mithitd W L*1uBLoG,u =50 loglY /5Yy) +50, YN =4, Yy =20, Yy =100

0,00 | 0,25 | 1,00 0,00 | 0,25 00 0,00 | 0,45 | 1,00
0,00 | 025 | 1,00 000 | 0,41 | 1,00 0 0,41 | 1,00 000 | 0,46
0,00 | 0,25 | 1,00 0,00 | 006 | 025 | 056 | 1,00 0,00 | 0,01 06 | 014 | 025 | 0,39 | 0556 | 0.76

NOOw  NO8w  N16w NOOw  NO4w N12w  N16w NOOw  NO2w NO6w N10w N14w

0,00 [ 0,25 , 0,00 I 0,25 [ 1,00 0,00 [ 0,45 ,00
0,00 @ 0,25 B 1,00 0,00 # 0,41 [ 1,00 0,00 B 0,41 W 1,00 '00
0,00 | 0,25 M 1,00 0,00 [ 0,06 M 025 [ 0'56 M 1.00 0,00 [ 0,01 M 006 [ 0'14 M 025 WM 0,39 '56
0 25 25 37 0}

0 50 100 50 75 100 0 12 62

ﬁs ge020-7n, Test samples: 3, 5 and 9 colour steps, greu=0,500, expu=2,000, expa=2,000
- TUB-test chart geo2; File-(F)-Linearization cdbddR—-0000Fand Gamma (71 lines) in four files

Gamma values 1 and 2 of the series N-W with 3, 5 and 9 steps
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